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1. La clase:

from math import sqrt

class Vec2:

def __init__(self, x=0, y=0):

self.x = x

self.y = y

def module(self):

return sqrt(self.x**2+self.y**2)

def __repr__(self):

return "\%1.5f \%1.5f" \% (self.x,self.y)

def __add__(self,new):

return Vec2d(self.x+new.x,self.y+new.y)

def __sub__(self,new):

return Vec2(self.x-new.x,self.y-new.y)

def __mul__(self,new):

return self.x*new.x+self.y*new.y

2. El programa:

#!/usr/bin/python

from vec2 import *

from random import uniform

iteraciones=input("Ingrese el numero de iteraciones ")

file=open("vectores.dat","w")

contador = 0.0

for i in range(0,iteraciones):

a=Vec2(uniform(-1,1),uniform(-1,1))

if a.module()<=1:

print >> file,a

contador+=1



resultado = 4.0*contador/float(iteraciones)

print "El numero obtenido es", resultado

print "Con mas iteraciones converge a pi"


